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CHEMISTRY

Which will have least amount of heat otfh. 6.\

"

neutralization ?

(A) HNO; + NaOH e
(B) HCI+KOH "
(C) CH,COOH-+ NH,OH
(D) HCI+ NaOH

Why I, dissolves in KI solution ?

(A) Formation of double salt
(B) Formation of complex salt
(C) Common ion effect

(D) Formation of simple salt

The solubility of Ag,CrO, in water in

moles/litre is S and its solubility product
is K. The following relation is correct :

3
S

(A) S= 71

38

K

S

® K=\

For a solution containing [OH ] = 1 M, /
the following is incorrect :
(A) pOH=0 (B) H =10""*M
(C) pH=14 (D) pOH= 14
Its solution in water will be basic :
(A) NH,CI
(B) FeCly
(C) CuSO,
(D) CH;COONa
4
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Among the following indicators, which
one operates in the most basic pH range ?

) Methyl orange
Phenolphthalein
Methyl Red

H,0 is a differentiating solvent for this.
(A) HC/ (B) HNO,

(€) H,S0, (D) CH,COOH

This is not a Lewis acid.

(A) €O (B) Cu®
(C) SO, (D) ZnCl,
The correct order of equivalent

conductance at o dilution of LiC/, NaC/
& KClis

(A) LiC/>NaC/>KC/
(B) KC/>NaCl> LiC/
(C) NaC/>KCI> LiC/
(D) LiCl/>KC/> NaC/

10,7 58 g of Acetone is dissolved in 900 g
y Flz_“; (Mol. wt. of acetone = 58). The

rno]q fi ction of acetone in solution is
(A) 'g. 8 (B) 0.002
£
(Ci.f@ 18 (D) 0.009
A0

“117"The amount of glucose which dissolved

in 100 g H,O decreases the vapour

pressure of water from 17.53 mm to
17.22 mm is (Mol. wt. of glucose = 183) :

(A) 1g (B) 10¢g
(C) 18¢ (D) 15¢

BIMC6
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1.  foue serfifiexo o —ga erft ? 6. = guel § A feadr 1 uRads &1 pH
(A) HNO; + NaOH

(B) HCI+KOH _
(C) CH,;COOH + NH,OH

(D) HCI+ NaOH

2. L, ®iKI g d gerefia s ?

(A) fao TaurFHTET

(505 7. H,O T forg Rde) faemas &
) e (A) HCI (B) HNO,
(D) RSB (C) H,S0, (D) CH,COOH
3. Ag,CrO, @t v # Hre/forex # fderaan S & 8. WETREUI TS
WWWWKS%!WW : (A) CO (B) Cu?*
i (€) SO, (D) ZnCl,
4
a TTeIp] BT HE HH &
(B) KS=‘\E (A) LiCl>NaCl>KC/
= (B) KC!I>NaCl> LiC/
(©) 's=-\/3 (C) NaCl>KCI> LiCl
. (D) LiCl>KCI> NaCl
S
oni
2 ¢ 7~ B. e 900 7™ i # THieH & 5.8 uW Hid T
4 R PR OH] = | ME P oed (e BT SR = 58) | Riera # et a1
o sma: - el IS &
(A) pOH=0 B - Tovim - (A) 0.998 (B) 0.002
(C) pH=14 (D) pOH%I4 4~ A (€) 0.018 (D) 0.009
(A) NH,CI HTAMTE 17.53 mm A geHR 17.22 mm &
(B) FeCly AT (TP T IAR = 183) ?
(€) CuSO, (A) 1g (B) 10g
(D) CH;COONa _ (C) 18¢ (D) 15¢
BIMC6 5 o
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13.

14.

15.

16.
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The aqueous solution of an orgaglic ™,
compound was made with 6 g of it m__"
100 g water. Its boiling point is 10Q45%!

°C. If K, for water = 0.51 °C mola
the molecular weight of the compound is
(A) 51 (B) 60
©) 79 (D) 101

1‘:}}

L

COHSCOOH associates in benzene into a

dimer. The ratio of Van’t Hoff factors of
C(HsCOOH in this solution to aqueous

solution of NaC/ is
(A) 1:4
©y 1:2

B) 1:1
(D) 2:1

The product of CO + 2H,

CuO + ZnO + Cr)0,
300°C, 200 atm

(A) HCHO

(B) HCOOH

(C) (CH,C0),0

(D) CH;OH

Addition of 1 — 2% Ethyl alcohol is
mixed with CHC/; & during its storage,

it functions as

(A) Negative catalyst
(B) Oxidising agent
(C) Reducing agent

(D) Positive catalyst /o

In oxidation of oxalic acid by KMnO4
AN
3

H,80,, the following acts as', aq
autocatalyst :

A) K* (B) Mn**

(C) CO, (D) SO%

https://previouspaper.in
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(D) Maltase

18. The constant for
N, + 0, == 2NO is 4 x 10~ at 200

K. Use of a catalyst led to increase in
rate by 10 times. Its equilibrium
constant now is

(A) 40x107*
(B) 20x 107
(C) 4x107*
(D) 2x107*

equilibrium

19. The lower limit for the size for a
solute particle to be colloidal is about

(A) 50 A (B) 1000 A

(C) 2000 A (D) 5000 A
20. Milkis

(A) Aerosol (B) Foam

(C) Sol (D) . Emulsion

Its solution in water is an example of an
irreversible colloid.

--:\t_“ ) Starch (B) Protein
) &d) Gum (D) As,S,
J

PJ/Q)%

Purple of Cassius consists of
(A) Au (B) Ag
(€) S (D) Fe(OH),

6 BIMCé6
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@ FHf 2 & s Rew § 6 T g
mlmmaﬂﬁgm%laﬁsﬂﬁm?@__ 4

°C molal™' &, a1 uer H13w@R &

(A) 51 (B) 60
<€) 79 (D) 101

C¢H;COOH =i e ¥ ¥for & faea
AT E | §9F diC BT 0% &1 NaCl & Siefd
farera & aie &1 T[OTe BT U &

(A) 1:4 (B). 1:1
©) 1:2 (B) 2¢1

CuO + ZnO + Cr203

€O+ M, —55ec,200am

IR E

(A) HCHO
(B) HCOOH
(C) (CH,C0),0

(D) CH,OH

]

- 3,
CHCI, ﬁaﬁw%fﬁqwﬁﬂsmgﬁ ‘f,.,

1 — 2% Ul TepraTe e faam s
FAYPR BT PIATE :

far
i '_f';"
{ 7‘-\ .
(A) OIS ISR
(B) sifioR®
(C) varEas

(D) 499KHS SORE

Jififers s & KMnO, + H,S0, &RT
Sitaftaor 3, 1 ¥ SRS BT PR RATE

(B) Mn**
5
(D) SO%

(A) K*
(C) €O,
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18. N, + 0, = 2NO &1 200 K ® s
fRRi® 4 x 107 & | 58RT FTRM A ®
¥ 10 onag T & 1379 ST I fRRTS &
(A) 40x107*

(B) 20x 107
() 4 x107*
(D) 2x107*

19. s faRa 3u1 &) Fraiss! an & fow Sud
TGS B AT AR AT
(A) 50 A (B) 1000 A
(C) 2000 A (D) 5000 A

g
Wi (B) %+
Hfa (D) W™
ST Wi 1a AT & Sropaviiy Didigs oI
IGTEROI
(A) wH (B) WM
(C) = (D) As,S,

22,  wdd i FRIGAABIATE
(A) Au (B) Ag
© S (D) Fe(OH),




23.

24.

25.

26.
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H,S is used with fresh precipita
As,S, as:

(A) Solubilization agent
(B) Peptising agent
(C) Reducing agent

(D) Oxidising agent

This is important in stabilization of a
colloidal solution.

(A) Diffusibility
(B) Tyndall effect
(C) Brownian motion

(D) Aggregation

The AH; for H2S(g)’ 802(3) and Hzom

are — 5.20, ~70.90 and —68.40 kCal mol™
respectively. ‘The heat of reaction
2H,8 o) + S0y, => 38 + 2H,0, is
(A) —55.50 kCal
(B) + 55.50 kCal
(C) —81.30 kCal

(D) —136.80 kCal

AH for Cﬁ_Hﬁlf) + 3H2(g) — Cthz(n
and C()wa + HZ’.{g) — Colem are

205 kJ mol™' and -119 kI mol!
respectively. The resonance energy fi r*r'
C¢H (benzene) is

(A) - 357 kJ mol™
(B) +357 kimot™!

(C) 152 kJ mol™

J/(C) NH,.CONH,

(D) CS,

28. Carbon shows catenation since
(A) It has valence of 4.
(B) C - C bond energy is high.
(C) atomic radius is small.

(D) It can bond with O & H.

sublimation :

(A) (COOH),
(B) C,H;COOH
(C) C4HsNH,

(D) CH,COCH,

material used by Tswett ?
(A) SiO,

(B) Cellulose
(C) CaCOj

#B) Solid | Liquid
(C) Liquid | Liquid

(D) —152kJ mol™

https://previouspaper.in

(D) Liquid | Solid

29. The following can be purified by

30. What was the first chromatographic

BIMCe6
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H,S BT As,S, & o 989 & GRIFm # [

H,S 591 o1 e & :
(A) s \ #
(B) Y<HRE .
(C) suas

(D) sifrfieRs

Prefterdt et & wenfirea 8 forg a8 wewol &
(A) frRomr

(B) fe~sawma

(C) artufy

(D) wE

HESLg]’

~ 520, ~70.90 31~ ~68.40 kCal mol™' & |
arfifea 2H,S
DIFHTE

(A) —55.50 kCal
(B) + 55.50 kCal

(C) -81.30kCal
(D) - 136.80 kCal

SOzig}aﬁ'\' Hzo{nao‘MHf HHIT:

@+ SOxg = 38+ 2H:0;

CoHoy * 3H2{g) = CeHyy 3R
CoH g * Hyg) = CoHyyp ® fi AH

99 — 205 kJ mol™! s - 119 q mol~!
\

& 1CH,, (a=ft7) Bl e ool & \

- 357 kJ mol™!
(B) +357 kI mol™!
(C) 152kJ mol ™’

(D) — 152 kJ mol™

(A)

BIMCé 9
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> ]
L -
~ K-S

¥l .
v._;‘zg‘ =844 e areEfe dfe g ?

\)nﬂ (A) HyCO,4

7o) (B) HCN
g (C) NH,.CO.NH,

(D) Cs,

28, o Aafer B8R &1 0T STl € Fife
(A) THBIEATHATS & |
(B) C-C *AFI AL |
(C) 9® WA H1IRAETGBIETR |

(D) TE0 3R H & IR a8 IR G186 |

29. = STSEduTH gRT A P s asaTe
(A) (COOH),
(B) C4H;COOH
(C) C HsNH,
(D) CH,COCH,

30. T A gduyH fFa ueRl &1 avfereT § 5@
e ?
(A) SiO,
(B) ¥egars
(C) CaCo,
(D) =™
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32.

33.

34.

35.

36.

37.

.(D) Alkyl Alkanoates
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Lassaigne’s test is not used for testing its

presence. _
¥ T
AN

(A) N
() 1

(B) CI
(D) P

What is “wood spirit” ?
(A) CH,OH
(B) CH,CH,OH

(C) CH,COCH,
(D) CH,COOH

C,H,, .,0 is the general formula of
(A) Alkanals
(B) Alkanones
(C) Alkanols

The number of optical isomers of a
compound with n asymmetric C atoms is

(A) 2° (B) n’
© 3 (D) 2n
This group shows + I effect :
(A) NO, (B) CN
(C) CHO (D) COO™ 7 %

Which one will have odd number
electrons ?

(A) Methyl cation
(B) Methyl anion
(C) Methyl radical
(D) Methane

10
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38. The number of chain isomers of octane

39. Of all the possible conformations of

n-butane, the one with the following
angle of rotation is most stable :

(A) 0°

(B) 60°
(C) 120°
(D) 240°

40. Starting with CH;COOK, Kolbe's

electrolytic  method liberates the

following on cathode :
(A) CH,

(B) CO,
(©) H,
(D) C,H,

41. Clemmensen reduction uses :

(A) Zn-Hg+ Conc. HC/
(B) Na

(B) Alkaline KMnO,
(C) Acidic KMnO,
(D) Zinc dust
BIMCé6
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32, o o s9a! SuRfY Y vEEH &
IYGIT H e AT ST
(A) N
©) 1

(B) C/
(D) P
33. “gefaRe” wmneis?

(A) CH,OH

(B) CH,CH,OH

(C) CH4COCH,
(D) CH,COOH

34. CH, O SHHTaMFIgAe
(A) T
(B) T
(C) v
(D) tfere tepeice

35. & ifte R n ermfa C e ®, Sad

HqUI- Ui Gaaafad) o W e
(A) 20 ' (B) n?
(€) % (D)+2n\

36. FEIYE+ | yHE WA
(A) NO, (B) CN

(C) CHO (D) COO™

37. fre gomgl @t we v gnf 2
(A) #fra ge =
(B) 3fdra swoma=
(©) #Raqas
(D) A=

BIMC6
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39.

40.

42,

E7>

i &b @l GHaId) P TR

n-ap 3 <) < <Rl 6 9, I8 <Rl
Rorer St 101 et €141 &, 98 ) veT &
(A) 0°

(B) 60°

(C) 120°

(D) 240°

CH,CO0K ¥ 7RW a7, T A fem-
strere) fafey # Fe S o Tt E
(A) CH,

(B) CO,

(€) H,

(D) C,H,

fvsaR SARG FE ?

(A) Pd[CaCO; + (CH,CO0),Pb
(B) &ma KMnO,

(C) arfaKMnO,
(D) <
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(i) kMnO 4 OH™
43. The product of CH=CH —

(i) H"

is
(A) CH,COOH

(B) COOH
COOH
(C) CH,CHO

(D) CH,CH,OH

44. The monomer for the polymer which is
used for coating cooking vessels to make
their surface non-sticking is

(A) CH,=CH,
(B) CH,=CHCI
(C) CF,=CF,

(D) C4H,CH=CH,

45. The monomer for this polymer is
prepared from cyclohexanone :

(A) Nylon 66
(B) Nylon 6
(C) Dacron
(D) Rubber

46. This polymer is present in cell walls of
plants :

(A) Starch

(B) Chitin

(C) Poly-isoprene
(D) Cellulose

https://previouspaper.in

47. This contains hydrocarbons with carbons
in the range of Cy— Cy

(A) Paraffin wax (B) Kerosene

(C) Bitumen (D) Petrol

48. Bergius process converts the following
into gasoline.

(A) CO+ H2

(B) Wood
(C) Coal +H,

(D) CO,+H,

49. Ammonolysis of RX gives
(A) Amine (B) Amide
(C). NH, (D) RCN

+
50. CH,NC — s will produce products
including :

(A) CH,COOH
(B) CH,CONH,
(C) CH,CH,NH,
(D) HCOOH

51. What is chloral ?

(B) CCl,COCH,

/

£ Q ) ;
\\ LR jlle’ij\ea on of chloroform with Ag

\ + powdertives
(A) CH, (B) CH,=CH,
(C) CH=CH (D) HCOOAg
12 BIMC6



